Here are the answers for Wednesday 20th May.

Comprehension:
6. He stands underneath his umbrella.

7. The Ice-cream Man sells ice-cream from his cart.

Maths Starter

30+3=10 2b -6=4 15+5=3

Main activity

Recognise and use symbols for pounds (£) and pence (p);
combine amounts to make a particular value

o Sam has a 20p, a 10p and a 5p. He buys a lolly for 15p. Which
coins should he use to pay?

10p P op P

e On the table, there are 5 coins: £1, 20p, 2p, 1p and another 2p.
Which 4 coins make up 25p?

200 [p | 2p p 2p P 1p p

Asmi has these 5 coins in her purse.

9 Which coins could Asmi use to buy a chocolate bar for 30p?
200 |p [P |o

0 Which three coins could she use to make 17p?

0p |[p 50 e 2p e

9 Asmi spent 115p. Which 3 coins did she use to pay?




English Activity

Focus- Use irreqular adjectives to compare (standard English)
Nbetter

2)more

3)most

W)worst

5)worse

Thursday 21t May

Comprehension

Inference

8. In the poem, what are the mounds of cooling brown and white?

9. Apart from ice-cream, what else does the

Ice-cream Man sell? Choose 1 answer.

a) crisps  b)drinks c) chocolate d)sweets

10. How does the poet feel when she sees the Ice-cream Man working?
a) She’s sad to see him.

b) She doesn’t like him.

c) She’s happy to see him.

How do you know this from reading the poem?

Maths Starter

+__=9 3x__=18 6x__=24

Main actiuity

Find three different ways to make the amounts below.

10p



a'ala
a'ala
a'ala



£1.05

English Activity

Focus: Imaginatiue writing

If you met Cliff, what would you say to him and what would he say to you?

Write a list of questions. Remember to end each question sentence with a question mark.



Please fill out the quiz independently.



https://forms.gle/MQwuAdgMB79ZzyFS8

